Pos Part Size Qty. Link EUR  Total Comments
1 Alu Extrusion 4080 600mm 1 Vallder 8.36 8.36 Shifter Arm
2 Alu Extrusion 4040 400mm 1 Vallder 2.99 2.99 Lower Brace
3 Right Angle Bracket BR 4040 3 Vallder 0.89 2.67
4 End Connector Plate  EP 8040 2 Vallder 1.39 2.78 Additional Stiffening
5 T-Connect Plate 40x120mm 1 AluXProfile 5.52 5.52 Lower brace mount
6 Countersunk Screw M8x20 3 AluXProfile 0.14 0.42 T-Connect plate screws
7 Socket Bolt M8x16 6 Vallder 0.19 1.14 For RA brackets
8 Socket Bolt M8x12 8 Vallder 0.17 1.36 For end plates
9 T-Slot Nuts 40-M8 17 Vallder 0.25 4.25
Total: 29.49 EUR



https://vallder.com/product/alu-profile-40x40/
https://vallder.com/product/alu-profile-40x40/
https://vallder.com/product/right-angle-bracket/
https://vallder.com/product/end-connection-plate/
https://www.aluxprofile.com/t-connection-plate-40x120/a3880
https://www.aluxprofile.com/hexagon-socket-countersunk-head-screws-m8x20-black/a3866
https://vallder.com/product/socket-bolts/
https://vallder.com/product/socket-bolts/
https://vallder.com/product/t-slot-nut/

